th2 =@ ¥ 0 2 A5 AB 9] Zo]7} 16cm , Y M
sela, ¥9C, D, E, F, G, H I J7} &&olct. o] ofj, A2t
o] Yol 4otH? (4, 80, M, N, L, K, C, D, E, F, G, H, I,

€ 99 TAolt)

@ 27wcm? @ 8mcm? ® 16mcm?
(@)327rcm2 ® 64rcm?




2. H& =FolA AEd R

15 14r
®© 3+ 57;)cm @ 4+ ?n) @(4 + T)cm
1 12
@ (5+ Tﬂ)cm ® (6+ Tﬂ)cm
2x2+2nx8x60 + 27 x6><60 —4+¥%n®m)

360° 360° 3
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z
Mo
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rr

~D

@® (126 — 307)cm? @ (126 — 327)cm?
® (127 - 327)cm? @ (127 - 30m)cm?
@(128 - 327)cm?

1
{<4x4—nx42x1> ><2}><4: {(16 - 47) x 2} x4 = 128 -

327(cm?)
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3428 9] & 9)7ke] 7] : 60°
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EH=3cm, FI=4cm

s (Hol)

o

:(;T><12+77><22+7r><32+7r><42)><360o

1
:307r><6 = 51 (cm?)




5. 0< I32A /DAB = /BOE = 20°, ED — 10cm 2 @, 5.0ptCD
o] Aolg st (T, YF&2 3 o2 ALttt
)
E ";"(
A To C
20°BN___ "
> =
D sL= ]

/OBC = 20° + 20° = 40°
/OCB = £OBC = 40°

£COD = 40° + 20° = 60°

60°

. 5.0ptCD = 2X 3 x5
- 5.0ptCD = 2 X3 X5 X oo

=5
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Ad+E=? (¢, AB=6cm, BC=3cm)

E
C
607
@ 27 cm @)4r cm ® 6rcm
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@8(7r + 6)cm @ 16(r + 3)cm ® 16(m + 6)cm
@ 32(m + 3)em ® 40(7 + 3)cm

~&B ~

Ht2]50] 4em Q1 YO E2F 712 8em , AIZ 16cm Q1 2 AFZ:
CEEE EESETUERE PRI
w 2x4r+ (16 + 8) x 2 = 87 + 48(cm)
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9. Th& 29| el 0 o4 OC//BD |2 5.0ptBD = 26cm < ),
5.0ptCD 9] Aol& +stofzt.

H 0o H Do A& 10H ADOB = o] 5HAZgo| 1L
(DBO = /BDO ©]i, /DOA = /DBO + «CDO = 50° O]EE
/DOB = 180° — 50° = 130° OIE}

wahA] 25° : 130° = 5. OptCD 26, 5. OptCD = 5(cm) o]t}




10. o8& oA tOAB =70°, & AB 2] Zdo]7} 5cm & o, € O 9
=9 do|=?

A= B

@ 25cm @ 30cm ® 35cm @ 40cm @45(:111

/OAB = /OBA = 70° ¢]|22 /AOB = 40°
Aol EFlo] doJE 1olgtstH [ : 5=360°: 40°
s 1 =45(cm)




